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CLASS VII (2023-2024), UNIT 1

TIME ALLOWED:3 HOURS MAXIMUM MARKS: 80
GENERAL INSTRUCTIONS:

1) This paper consists of three sections: A, B and C.

2) Attempt all questions.

3) Do not write anything on the question paper.

4) Read each question correctly and follow the instructions.

5) Ensure that questions of each section are answered together and correctly numbered.

Section A (Reading)(20 MARKS

1. Read the passage carefully and then select the most appropriate option to
each of the questions that follow: [1*8=8]

India embraced the internet with open arms, and its digital population has
been growing rapidly in the past decade with crossing 600 million active
internet users . What started with simple email correspondences, has
expanded to a digital universe with social networking platforms by tech giants
like Meta and Twitter becoming a part of everyday life. As data packs get
cheaper and the internet becomes more accessible, more Indians are
embracing the digital lifestyle. At the same time, smartphones are increasingly
becoming the primary screen for Indian customers. In fact, it seems that India
entirely skipped the desktop generation and went straight to mobiles. In 2019,
a whopping 99 percent of the rural internet users in the country primarily used
mobile phones. This means mobile phone applications are a booming market in
India.

In 2020, the highest number of WhatsApp and TikTok mobile app downloads in
the world were from India. The average internet user in the country spends
over three hours per day on social media. And a large proportion of this user
base were millennials and gen Z. In 2018, over 73 percent of Facebook users in
India were between 18 and 24 years of age.

Apart from social networking apps, YouTube, was widely popular in India.



YouTube consumption in India sky-rocketed with the Indian Premier League
streaming matches in 2010. Around the same time, Indian music record label,
T-Series, was slowly but steadfastly making its way on YouTube by sharing old
Bollywood and indi-pop music. The content took off and today, T-Series was
the most viewed and subscribed YouTube channel in the world.

Estimates indicate that by 2023, there will be almost 450 million social network
users in the country. This rapid growth in the sector has also given stimulus to
the advertising industry.

1. Indians have embraced the internet with open arms
means people have :

a) wholeheartedly accepted the invasion of the internet.
b) become happy with the coming of the internet services.
c) waited for a long for the internet.

d) accepted that the internet is here to stay.

2. More Indians are embracing digital the digital lifestyle because

a) Itis cheaper
b) Itis more accessible
c) None of the above

)

d) Both (a) and (b)
3. Name the social networking app which is very popular in India

Orkut
Facebook

a)
b)
c) Twitter

d) Youtube

4. has benefited from social media.

a) Digital Marketing
b) Cloth Industry
c) Film Industry
d) Bollywood songs



5. According to the passage, You Tube became popular because it was:
1. a free platform to use.

2. streaming of matches.
3. easy to use.
4. had a large subscriber base.

5. used by music labels to stream music.

a) 1,5
b) 3,4

6. Assertion - Smartphones are becoming the primary screen.

Reason - Even in rural areas people use mobile phones and not laptops.
a) Both (A) and (R) is True, but (A) does not relate to (R).

b) (A) is True but (R) is False.

c) Both (A) and (R) is True and (R) supports the validity of (A)

d) (A) is True but (R) cannot be substantiated from the passage.

7. Pick out the word from the passage that means the same as shoot up or
move up

8. Pick out the word from the passage that is opposite to slow or delayed

2. Read the passage carefully and then select the most appropriate option b)
from Paragraph 2 which is a synonym of the word ‘deviate’



11) Find a word from Paragraph-5 whichto each of the questions that follow:
[1*12=12]

1) Hobbies help us grow as a person. The best way to have a new hobby is to
try something new. Once we find an activity we are passionate about, we can
explore that activity more. When you get hooked, you will realize that your
hobby has become an integral part of your life. Having a hobby that we enjoy
brings us joy and refreshes us. Hobbies help us to manage our leisure and
unplanned time more productively. It also affords you the opportunity to learn
new skills in your work.

2) It feels great to be skilled and good at something, doesn’t it ? And this is
what makes you confident. It can take some time to develop your hobby so
that you may be able to tell that you are skilled. But, the journey of
experiencing your hobby is very rewarding in itself. Whether you are pursuing a
craft, sports, puzzles, or skill development, your hobby should be a diversion
and a passion. Simultaneously, if your hobby gives you a sense of purpose, then
you will be more confident about challenging yourself in your hobby and help
you prepare for learning new things at work.

3) Hobbies refocus your mind on something that you enjoy doing. Hobbies that
include physical activities create chemical changes in your body that help to
reduce stress.

4) Even if it doesn’t involve physical activities, you can still reap the benefits of
having a hobby. Getting a short break from work and doing something you are
passionate about can rejuvenate your mind and help prepare you to handle
challenges.

5) Hobbies may provide an opportunity for you to socialize with people and
that can be an additional benefit for your overall well-being. You can interact
with people who enjoy doing the same things that you do.

On the basis of your reading of the passage, answer the following questions-

1) When a person gets hooked on a hobby, he realizes that:
a) It has become an integral part of our life
b) It has few benefits in our life

c) It is quite essential for us to learn some skill before making it a hobby



d) hobbies are not important

2) No matter which sort of hobby you are pursuing a craft, sports, puzzles, or
skill development, your hobby should be-

a) Useful for you in long run
b) A skill that improves your present circumstances
c) A diversion and a passion

d) Followed through till the end

3) The journey of experiencing a hobby is quite:
a) Challenging in itself

b) Rewarding in itself

c) Overwhelming in itself

d) Inspirational for a person

4) Assertion: A person must make an effort to take a short break and practice
a hobby they are passionate about.

Reason: Hobby can help you to rejuvenate your mind and help prepare you to
handle challenges in the future in a better way.

a) Both A and R are true and R is the correct explanation of A
b) Both A and R are true and R is NOT the correct explanation of A
c) Ais true but R is false

d) A is false but R is true

5) The benefits of practicing a hobby are- (Choose the correct option)

a) Reduces stress



b) Enhances stress
c) Rejuvenates the mind

d) gives enjoyment
i)A, B, C

i)A, C,D

iii)B,C, D

iv)A,C, B

6) Identify the emotion that best suits a person who practices a hobby.

7) What is the main idea conveyed in the passage above ?

~

\\

8) Do you think hobbies provide you with an opportunity to socialize with
people? Give a reason to support your answer.

9) State any one way through which hobbies enhance your life.
10) Find a word

a) from Paragraph-1 which is a synonym of the word ‘captivated’.

is the opposite of ‘disconnect’.



Section B (Writing And Grammar)( 30 MARKS)

3. You are Rohan /Ruhi, studying in St. Joseph’s Convent School, Simla. Your

science teacher has asked you to prepare a notice to inform the students that a
science exhibition will be organized in your school in the next month. Invite the
students to participate in the exhibition. [4]

OR

Read this conversation between a sales man and a customer and complete the
dialogues- [4]

Sales man- May | help you? Are you looking for anything in particular?
Customer- Yes, | am looking fora[a]...................

Sales man- What size are you looking for?

Customer- My sizeis [b]...........oooot.n.

Sales man- Here are the shirts.

Customer- Do you havea[c]................. shirt.

Sales man- Yes, of course hereisa [d]................ one in the same size.

4. You are Sankalp/Suruchi. You are very close to your uncle who is an army
officer. He has asked you to tell him what you wish to be when you grow up.
Write him a letter and also explain why you wish to join that profession. [8]

OR

Your school is organizing a Debate Competition on the motion, Media Doesn’t
Play It’s Role Well”. Prepare a speech either in favor of or against the motion.

8]

5. The following passage has not been edited. There is an error in each line
against which a blank is drawn. Write the incorrect words and the correction in

your answer sheet. The first one has been done as an example. [4]
IMCORRECT CORRECT
Avtiimm are the seasen That | Eg. Are %
talls between

summer and winter, There | ad
are muoch chunges

that began m  this | b)

(s imat MY ST, []:1:».- 5



. Rearrange the following words/phrases to form meaningful sequences.
[1*4=4]

A) ship/ violently/ the storm/ rocked/ the.

B) the Mauryan/ Ashoka/ wished/ EBmperor/ to expand/ empire.
C) thousand/ died/ people/ over/ a hundred.

D) the kingdom/ a large/ army/with/ he/ of/ attacked/ Kalinga.

7. Given below is a set of instructions for making vegetable cutlets. On the
basis of instructions complete the following paragraph. [1*4=4]

Steps:-

a) Boil potatoes, peas and carrots. Mash the boiled vegetables.

b) Add other seasonings such as salt, red chilly powder and garam masala.
c) Chop onions and coriander leaves and add to the mixture.

d) Roll in bread -crumbs and fry for two minutes.Serve hot with tomato
ketchup.

Potatoes,peas and carrots (a)............... Seasonings such as salt, chilly powder
and garam masala (b).............. Onion and coriander leaves (c)........... and
added to the mixture. The cutlets (d)........... in bread-crumbs and fried for two

minutes. The cutlets are served hot with tomato ketchup.

8. Read this passage and fill in the gap with the help of given options. [3]
Yesterday, | received a phone call that my father [a]........ unwell. I booked a
ticket online and [b] ...... for Amritsar. On the way, | [c]............. a young man

who looked like my elder brother.



[a]i.is ii. was iii. are
[b]i. leave ii.leaves iii. left

[c]i. meets ii. meet iii. Met

9. Do as directed: [1*3=3]
(i) Renu is as active as Kanchan (Change into ‘negative’)

(ii) Teacher gave a task to change _ proper noun into a common noun.
(supply an article)

(iii) It not take them more than three hours to reach here. (supply a

modal)

Section C (Literature)(30 MARKS)

10. Can running water be drunk from gold?
Can silver dish the forest hold?
A rocking twig in the finest chair,
And the softest paths lie through the air,
Goodbye goodbye to my fair lady.

1. Identify the poet of the above extract.

2. Who is the speaker and whom does the speaker address?
3. The speaker prefers what, and why?

4. State the poetic device used in the third line.

11. Read the extract and answer the questions that follow:

[4]

[4]

The jeweler left his shop and ran after us. So did Rocky. So did several
bystanders who had seen the incident. And others, who had no idea what it
was all about joined the chase. As grandfather used to say ‘In a crowd,
everyone plays follow the leader even when they don’t know who is leading.’

(a) Name the chapter of the above extract.

(b) Who is ‘the leader’ of this chase?

(c) What did Tutu steal from the jeweler’s shop?
(d) How did Tutu end the chase?



12. Attempt ANY SIX questions out of seven given below in 30-40 words.
[2*6=12]

a. Why do you think some guests were not seen after marriage?

b. Compare and contrast the existing world and the world of poet’s dream on
the basis of your reading of the poem ‘I Dream A World'.

c. Manjula tore her paintings into pieces. Give reason.
d. Discuss the feelings of Swami while catching the thief.

e. Was the necklace of any use for Tutu? How was it restored to the
shopkeeper?

f. The bird declines the offers made by the child. Why?

g. The one particular line underlined in red in the newspaper cutting changed
Manjula’s life. How?

13. You must have heard a famous proverb ‘Fortune favors the brave’. Do you
agree? Share your views on whether Swami was a ‘brave hero’ or an
‘accidental hero’. Justify your opinion by using suitable examples from the
story ‘A hero’. [4]

OR

Physically challenged people do not need sympathy. They need words of
encouragement, motivation to move ahead. Justify the statement in reference
to the story ‘fight Manju fight’. [4]

14. ‘You can design, create and build the most beautiful place in the world but it
takes people to make dream a reality.” ~ Walt Disney

What changes can we make in our daily lives to make this world a beautiful
place. Write a diary entry expressing your views after reading the poem ‘I
Dream a World’. [6]

OR

Imagine you are Manjula. You have won the first prize in “On The —Spot
Painting Competition”. Write a letter to your friend expressing your feelings
and satisfaction at having won the prize. [6]






SECTION A [READING] (20 MARKS)

Q.1 Read the passage carefully and then select the most
appropriate option to each of the questions that follow: 1*8=8

1. Indians have embraced the internet with open
arms means people have :

a) wholeheartedly accepted the invasion of the
internet.

2. More Indians are embracing digital the digital lifestyle because

Both (a) and (b)

3. Name the social networking app which is very popular in
India
Youtube

4. has benefited from social media.
a) Digital Marketing

5.According to the passage, You Tube became popular because
it was:
d) 2,5

6. Assertion - Smartphones are becoming the primary screen.
Reason - Even in rural areas people use mobile phones and not
laptops

c) Both (A) and (R) is True and (R) supports the validity of (A)

7. Pick out the word from the passage that means the same as
shoot up or move up : SKYROCKETED

8. Pick out the word from the passage that is opposite to slow
or delayed — Rapid

2. Read the passage carefully and then select the most



appropriate option to each of the questions that follow: [1*12=12]

1) When a person gets hooked on a hobby, he realizes that:
a) It has become an integral part of our life

2) No matter which sort of hobby you are pursuing a craft, sports,
puzzles, or skill development, your hobby should be-

c) A diversion and a passion
\

3) The journey of experiencing a hobby is quite:
b) Rewarding in itself

4) Assertion: A person must make an effort to take a short break
and practice a hobby they are passionate about.

Reason: Hobby can help you to rejuvenate your mind and help
prepare you to handle challenges in the future in a better way.
a) Both A and R are true and R is the correct explanation of A

5) The benefits of practicing a hobby are- (Choose the correct
option)

a) Reduces stress

b) Enhances stress

c) Rejuvenates the mind

d) gives enjoyment

i)A,C,D

6) Identify the emotion that best suits a person who practices a
hobby.

Option B

7) What is the main idea conveyed in the passage above ?
Relevant Ans Accepted

8) Do you think hobbies provide you with an opportunity to
socialize with people? Give a reason to support your answer.
Relevant Ans Accepted



9) State any one way through which hobbies enhance your life.
Relevant Ans Accepted

10) Find a word

a) from Paragraph-1 which is a synonym of the word ‘captivated’.-
- Hooked

b) from Paragraph 2 which is a synonym of the word ‘deviate’
Diversion

11) Find a word from Paragraph-5 which is the opposite of
‘disconnect’.
Socialize

SECTION B [WRITING & GRAMMAR](30 MARKS)

3. Format of notice

Name of the Institution
NOTICE
Date
Topic
Content
Signature

Name & Designation of the person issuing the Notice
[Notice is always written in the box]

OR
3. a. shirt
b. 40
c. black
d. black

4. Informal Letter
Sender’s Address (2-3 lines)



Date
Salutation
Body of the Letter (in 2-paras)

Sender’s Name
Signature

OR
4.Debate
Salutation (Introduction)

Body-views, facts, statements, question

Thank you

3. | &) much many
b} began begin
¢) turns tum
d) but and

6. A) The storm rocked the ship violently.

B) Emperor Ashoka wished to expand the Mauryan Empire.
C) Over a hundred thousand people died.

D) He attacked the kingdom of Kalinga with a large army.

7. a) are boiled
b) is added

c) are chopped
d) are rolled

8. Gap Filling

a. was
b. left
c. met



9. (i) Renu is not as active as Kanchan.
(i) the
(iii) will

SECTION C [LITERATURE](30 MARKS)

The answers will be according to the student’s perspectives.
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SAMPLE PAPER (2023-24)
CLASS-VII (Term 1
MATHEMATICS
TIME : 3 Hours M.M:80

General instructions:
1. This question paper has Sections A-E.
Section A: (Q1-Q12) has 12 MCQs carrying 1 mark each.
Section B: (Q13-Q20) has 8 questions carrying 2 marks each.
Section C: (Q21-Q28) has 8 questions carrying 3 marks each.
Section D: (Q29-Q32) has 4 questions carrying 5 marks each.
Section E: (Q33-Q34) has two case-based integrated units of assessment (4 marks each)
with sub-parts of values of 1,1 and 2 marks each respectively.
7. All questions are compulsory. However, an internal choice has been provided in the 2
marks question of Section E and internal choices of 2 questions in Sections B, C and D.
8. Draw neat figures wherever required.

AN

Section-A
Ql. %x = 4, then which of the following is the value of x?

a) -10  b) 10 ) —=- d)+

Q2. The range of the given data: 15, 19, 20, 22, 34, 28, 30, 56, 21 is-
a) 56 b) 15 c) 41 d) 20
Q3. _T4 has a rational number with denominator 20 is —

—16 —4 ~16

a) 5= b ©) 20 d) =5

Q4. Which of the following can be the sides of a triangle?
a) 8cm,4 cm,20cm b) 9 cm, 16 cm, 25 cm

c) 11 cm, 16 cm, 28 cm d) 10 cm, 16 cm, 15cm

Q5. [(- 3)2]3is to —
a) (—3)° b)(=3)° o) (- 3)° d) (- 3)*

Q6. The point of concurrence of the altitudes of a triangle is called-

a) Orthocentre b) Circumcentre c¢) Centroid d) Incentre



Q7. _2—604 in standard form is —

) 5 D ) )55

Q8. If k+7=16, then the value of 8k-72 is-
a) 56 b) 0 c)l d) 34

Qo. (10 +20+ 30) is equal to —
a) 0 b) 1 ¢)3 d) 6
Q10. Additive inverse of _73 is —

) =~ b~ )% d) 5

In the following questions,Assertion (A) and Reasoning (R)have been put forward. Read
both the statements carefully and choose the alternative option:
a) Both assertion and reason are correct and reason is the correct explanation for

assertion

b) Both assertion and reason are correct but reason is not correct explanation for

assertion

c) Assertion is correct but reason is false.

d) Both assertion and reason are false.

Q11. Assertion (A): A median of a triangle is the line segment that joins a vertex to the midpoint
of the opposite side.

Reason(R) : The centroid of a triangle divides each median in the ratio 3:1.

QI12. Assertion (A): _T4 is a rational number in standard form.

Reason(R) : A rational number % is in standard form if ¢>0 and HCF(p,q)=1

Section-B

X

Q13. Find the value of x such that _TS = -

81 .
Q14. Express — - as powers of rational numbers.



Q15. Represent _Tg on a number line.

Q16. Verify whether (5,7,12) is pythagorean triplet or not? Justify your answer(show steps).
Q17. Find median and mode of the given data:

35,32,35,42,35,32,34
Q18. The vertical angle of an isosceles triangle is 44-. Find its base angles.

OR

Find x and y in the given figure-

30 ¥ 120"
B T D
Q19. Solve the equation: 2 _1=29
5

OR
Q20. Without actual division, determine if ;ng is terminating or non-terminating decimal.
Section-C

Q21.The measure of three angles of a triangle is in the ratio 5:3:1. Find the measures of
these angles.
Q22. The length of a rectangle is 20 cm more than its breadth. If the perimeter is 100 cm.

Find length and breadth of the rectangle.

Q23. The sum of two numbers is =5 If one number is ==, find the other.

16 24 °
OR
. n 5 =7 6 (=3)
Simplify: = + —-o=+ =5 + =0

Q24. The mean of 10 observations was calculated as 40. It was detected on rechecking that

the value of 45 was wrongly copied as 15. Find the correct mean.

Q25. Compare: |_TS | [] |I_:



Q26. Find the decimal representation of _Tls by long division method.

Q27. Simplify: [(— 2)"x (= 2)"+ (- 2)]
OR
By what number should (— 3)_2 be multiplied so that the product may be equal to 9.
Q28.Verify the property x X (y + z) = x X y + x X z by taking x = %, y=—,zZ=—.
Also name the property used here.
Section-D
Q29. Divide the sum of i—g and % by their differences.

Q30. Solve and check: % +1= %

OR

Samaira is twice as old as Reena. If six years is subtracted from Reena’s age and four years
are added to Samaira’s age, Samaira will be four times Reena’s age. How old were they three
years ago?

0.2x0.02x0.005

Q31. Simplify: 5770 0001

1 1
-7+ 3
Q32. (i) Express (2.5 x10"") x(31.25 x10™") in the form k 10", (1 < k < 10)

-2 0 _
(i) If £ = () x (F) . find the value of (x/y)

OR
-2 — -1 77
' 3 x+1 3.1 3.1
Find the value of x such that (=) () =) ]
Section-E

Q33. Anamika places a ladder in such a way as its foot is 5 m away from a wall and its top reaches a
window 12 m above the ground.

On the basis of above information, answer the following questions: ".’
a)For the given situation, which of the following triangles is formed? I';

12 m { bt
(i) Acute (i1) Obtuse (iii) Right (iv) Equilateral Wl j J;r

b) Longest side in a right angled triangle is i

ground 5m



(1) Base (ii) Perpendicular (iii) side (iv) Hypotenuse
c) What is the length of the ladder?
OR

Can 5 cm, 9 cm and 12 cm be the sides of a right angled triangle?Justify with steps .

Q34. The following bar graph shows the passing percentage of an annual examination in a
secondary school.

RESLILTY OF AN ANRLIA] FXabnrmalion iV A SECONDART

FERCENTAGE OF STUDENTY

CLANS

L Lo
L L

On the basis of given information, answer the following questions:
a)The class having the highest pass percentage of students is-
(1) 6th (i1) 7th (iii) 9th (iv) 10th
b)Which are the classes who have the lowest pass percentage of students ?
(1) 6th & 9th  (ii) 7th & 10th (iii) 9th & 10th (iv) 7th & 8th
c) Find the total percentage of students of class 7th and 10th.

OR

Find maximum and minimum pass percentage of boys. Also find their differences.
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Sample Question Paper
Class VIl Science
TERM 1

Max. Marks: 80 Time Allowed: 3 hours
General Instructions:

1)The question paper comprises five sections- A,B,C,E and E. There are 38 questions
in the question paper. All questions are compulsory

2) Internal choices have been provided in some questions. A student has to attempt
only one of the alternatives in such questions.

3) Section A consists of question number 1-19. These questions are MCQ's and
Assertion -Reason questions. They carry one mark each.

4) Section B consists of question number 20 to 25. These are short answer questions
which carry two marks each.

5) Section C consists of question number 26 to 31. These are short answer questions
which carry three marks each.

6) Section D consists of question number 32 to 34. These are long answer questions
which carry five marks each.

7) Section E consists of question number 35 to 38. These are case based answer
questions which carry four marks each.

Section-A

questions 1 - 19. There is no negative mark for incorrect response.

Select and write the most appropriate option out of the four options given for each of the

Q.Nos. Questions

Marks

1 Carbohydrates:glucose::Proteins:
a) Fatty acids b) Amino acids  c¢) Glycerol d) Glycogen

1

2 Mushroom shows
a) Parasitic nutrition b) Saprophytic nutrition
c) Autotrophic nutrition  d) Symbiotic relationship

3 Excess water is absorbed in which part of alimentary canal
a) Stomach b) Small intestine c) Large intestine d) Liver

4 Spacious bag like structure between small intestine and large intestine in
ruminants is called
a) Caecum b)Omasum c¢)Rumen d)Abomasum

5 Chemical formula for nitrate ion is
a) NO° b)NO?% c)NO; d)NO,

6 Identify the chemical change

a




7 Acid found in grapes is
a) Tartaric acid b) Oxalic acid c) Lactic acid d) Acetic acid
8 Salts of sulphuric acid are named as
a) Sulphites b)sulphates c) sulphides d) sulphurates
9 On a cold winter night, Ram is sleeping taking a thick blanket while Shyam
has combined thin blankets to cover him. Choose the correct option.
a) Ram will feel more warmth
b) Shyam will feel more warmth
c) Both will have same warmth
d) Shyam will feel less warmth than Ram
10 Ram placed four laboratory thermometers in four different coloured socks-
green, white, red and black in the Sun for 4 hours. The four temperatures
recorded are given below. Choose the expected recorded temperature in
the black coloured socks.
a) 25°C b)40°C c) 32°C d) 15°C
11 When a hot tumbler of milk is kept on the table, heat will be transferred

a) From the surroundings to the hot tumbler.

b) First from surrounding to tumbler and then from the tumbler to the
surrounding.

c) No exchange of heat between tumbler and surrounding .

d) From the hot tumbler to the surroundings.




12

Ihistiimce i

B 1 I 1 £ & T R F 1
i s}
The car is moving in
a) Uniform motion
b) Non Uniform motion
c) Periodic motion
d) Oscillatory motion

13 Car A covers a distance of 80 Km in 2 hours and Car B covers a distance
of 120 Km in 3 hours. Choose the correct option:
a) Speed of Car A is more than Car B
b) Speed of Car B is more than Car A
c) Both have same speeds
d) Initially Car A has more speed and then decreases
14 Students put the following seeds in four conical flasks plugged with cotton
wool.
Conical flask A: germinating seeds
Conical flask B: dry seeds
Conical flask C: boiled seeds
Conical flask D: roasted seeds.
The flasks were kept for 4 to 5 days. In which flask , a rise in temperature
was observed.
a) A b) B c)C d)D
15 Rashi is having muscle cramps after a rigorous workout due to the
accumulation of
a) Lacticacid b) Citricacid c) Oxalic acid d) Acetic acid
Question No. 17 to 20 consist of two statements — Assertion (A) and
Reason (R). Answer these questions selecting the appropriate option
given below:
a) Both A and R are true, and R is the correct explanation of A.
b) Both A and R are true, and R is not the correct explanation of A.
c) Ais true but R is false.
d) A is false but R is true.
16 Assertion: Bread chewed for 3-4 minutes tastes sweet.

Reason: Saliva breaks down starch to form sugar.




17

Assertion: Sodium hydroxide is an Alkali .
Reason: Sodium hydroxide is not soluble in water.

18

Assertion: Houses generally have dark colours on their outer walls.
Reason: Black colour absorbs more heat than white colour.

19

Assertion: Two pendulums can have the same time period
Reason: If two pendulums of the same length are taken, they will take the
same time to complete one oscillation.

Section-B
Question No. 20 to 25 are very short answer questions

20

Explain the symbiotic relationship between rhizobium and leguminous
plants

OR
“ Leaves are called the food factory of plants”. Explain.

21

Name the finger-like projection present in the small intestine. State its
functions.

22

What is the role of roughage in the human body? Name 2 food items rich in
roughage.

23

Rashmi dipped an iron nail in copper sulphate solution.
a) What will Rashmi observe?
b) Name the reaction involved.
OR

Classify the following reactions as combination, decomposition,
displacement and double displacement reactions.

heat
a) BaCO, — BaO(s) +  CO(g)

b) Mg(OH),(aq) + 2HCIl(ag) — MgCly(s) + 2H,0(l)

24

A boy was stung by a bee that caused a shooting pain. His mother
suggested him to apply baking soda on it.

a) Give reason for the shooting pain.

b) Justify the remedy suggested by the mother .

25

The metal rim, to be put on a cart wheel, is designed to have a smaller
diameter than that of a wheel. Give a reason.

Section-C
Question No. 26 to 31 are short answer questions

26

Why is it important to return nutrients into the soil? What are the ways by
which nutrients can be returned into the soil?




27

Draw the diagram of human digestive system and then label the following
parts:

a) a yellow leaf shaped gland

b) a long, narrow, muscular tube that connects buccal cavity to the

stomach
28 a) Complete the following table :
Indicator Colour in acidic Colour in basic
medium medium
Turmeric (i) (i)
Juice of China rose (iii) (iv)
b) Write the name of an indicator which turns pink in basic medium.
29 a) Distinguish between Uniform and Non uniform motion
b) An object is moving in a straight line. Read the following data and
decide whether the object is showing uniform or non-uniform motion.
Time Distance covered (m)
7:00 am 0
7:15 am 10
7:30 am 20
7:45 am 30
8:00 am 40
OR
A car moves with a speed of 20 km/h for 15 minutes and then with the
speed of 40 km/h for the next 15 minutes. Find the total distance covered
by the car in these 30 minutes
30 What changes are observed in the following parts of the body during the

process of inspiration and expiration?
Rib cage, chest cavity and diaphragm




31

Complete the following flowchart:

Ty pes of ReEsperaticer

1 Dy W EITE B i b e v em s recd Ol Sy gy

Wil ITD LT TP Ll OT

11 A DO reEspFEamon Anasrobic respiration

I

Iry | N homan sz il kN

Y. . 3

iy Carbon dEmie + Laciic Ao s+ Energy

[

Enangy

Section-D
Question No. 32 to 34 are long answer questions

32

Why do insect eating plants feed on insects? Give an example of an
insectivorous plant . Explain its modifications to derive nutrition .

OR

a) Define photosynthesis. Write the chemical equation for the process of
photosynthesis.

b) Draw a diagram to represent the process.

c) What are the initial and final products of the process of photosynthesis

33

Consider the following equation
Mg(OH),(aq) + H,SO4(aq) —---> MgSO,(aq) + H,O(l)

a) Identify the type of chemical reaction

b) Name the reactants

c) Name the products

d) Balance the above equation

e) Give any other example of the above reaction

OR

(i) Differentiate between physical and chemical changes
(ii) Classify the changes given below into physical or chemical changes:
Stretching of rubber band
Rusting of iron
(iii) Give an example of a
Reversible physical change
Irreversible physical change




34 (i) Pins A, B, and C are attached to the iron rod with the help of wax as 5
shown below. In which order are the pins likely to fall? Why ?

(ii) Rohit dipped clinical thermometer in boiling hot water. The thermometer
cracked. Why did the thermometer crack? Which thermometer should he
have used instead? Why?

OR
(i) Observe the figures and identify the mode of heat transfer in each case

b)

(ii) Give reasons:
(a) We use plastic handles for holding tea kettles
(b) Equitable climate exists in places near the sea
(c) Fire brigade men use shining brass caps

SECTION - E
Question No. 35 to 38 are case-based/data -based questions with five short sub-parts.
Attempt any four out of five sub-parts in each case study question

35 Rohit took a solution of aluminium chloride in water in a petridish. He 4
dipped a strip of blue litmus paper in the solution. The colour of litmus
paper changes to red.

a) What is the nature of the salt given in the situation above?

b) Name the acid and base which react to form the above salt.

c) Will the solution of salt conduct electricity? Why?

d) What is the use of indicators?

e) What would Rohit observe if red litmus paper is dipped in the above

salt solution?

36 Two little children like eating chocolates. One of them is 5 years old. The 4
other is 10 years old. Their mother always encouraged them to brush their
teeth twice a day to keep their teeth shining and cavity-free. Children were
also made aware of the two sets of teeth humans have in their lives.

a) Name the white shining material covering the teeth

b) Which set of teeth do both the children have?




c) Write one difference between the two sets of teeth humans have in
their lives.

d) Name the types of teeth in humans which help in (i) grinding food
and (ii) cutting food.

e) Ingestion of food is not possible without teeth. Explain .

37

Radha went to a Science laboratory. She took a drinking straw and freshly
prepared lime water in a test tube. She blew air gently at the end of the
straw. She observed that lime water turned milky.

a) Why did Radha observe milkiness in lime water?

b) Write down the chemical formula of quicklime

c) Write the chemical equation involved when quicklime reacts with

carbon dioxide
d) Identify the type of chemical reaction involved in part c .
e) Why is it important to exhale ?

38

A chemical reaction is a representation of chemical change in terms of
symbols and formulae of reactants and products. There are various types
of chemical reactions like combination, decomposition, displacement,
double displacement, neutralization, oxidation and reduction reactions.
Reactions in which heat is released along with the formation of products
are called exothermic chemical reactions. All combustion reactions are
exothermic reactions. The reaction in which heat is absorbed is called
endothermic reaction.

a. ldentify the type of chemical reaction.
CaO (s) + H20O (I) —» Ca(OH)2 (aq)

b. Write the symbols of calcium and calcium ion.

c. Deduce the chemical formula of aluminium phosphate.

d. State the type of chemical reaction that occurs between acids and
bases and leads to formation of salt and water.

e. Write a balanced chemical equation for a reaction between sulphuric
acid and sodium hydroxide.




Sample Question Paper
Class VIl Science
Marking Scheme

Section-A
Q.Nos. Key point(s) Marks
1 b) Amino acids 1
2 b) Saprophytic nutrition 1
3 c) Large intestine 1
4 a) Caecum 1
5 c) NOy 1
6 d) Curdling of milk 1
7 a) Tartaric acid 1
8 b) Sulphates 1
9 b) Shyam will feel more warmth 1
10 b) 40°C 1
11 d) From hot tumbler to the surroundings 1
12 b) Non- uniform motion 1
13 c) Both have same speeds 1
14 a) A : Germinating seeds 1
15 a) Lactic acid 1
16 a) Both A and R are true, and R is the correct explanation of A 1
17 c) Ais true but R is false 1
18 d) A is false but R is true. 1
19 a) Both A and R are true, and R is the correct explanation of A. 1
Section-B
20 Rhizobium and leguminous plants have a symbiotic relationship. 1+1

Leguminous plants provide food and shelter to Rhizobium and
Rhizobium fixes the atmospheric nitrogen for the plants.




Or
Leaves are called the food factories of plants because the
synthesis of food in the plants occurs in their leaves. The leaves
have a green pigment for chlorophyll which helps the leaves to

capture the energy of sunlight. 2
21 Villi is the finger-like projection present in the small intestine. 1+1
Villi increases the effective surface area for absorption of digested
food.
22 Roughage helps in bowel movement in the human body. When the | 1+ 72 +%
cellulose is not digested in the human body, it forms roughage.
Two food items rich in roughage are- spinach, potato.
23 a) lron nail will turn brown in colour and the blue color of the 1+1
copper sulphate solution will fade/ change into green.
b) Displacement reaction
or
a) Decomposition reaction as a single reactant is broken into 1+1
two products.
b) Neutralization reaction as acid and base react with each
other to form salt and water.
24 a) The shooting pain is due to the release of formic acid 1+1
present in the bee sting.
b) Baking soda is a base which will neutralize the formic acid
released by the bee sting.
25 The metal rim is designed to have a smaller diameter so that when | 2
the rim is hearted, it becomes red hot, expands and slips onto the
wheel easily. When it is cooled, it contracts and grips the wheel
firmly.
Section-C
26 Plants remove nutrients from the soil as they grow, nutrients are 1
reintroduced to keep the soil productive
Decomposition of dead parts of organisms , bacteria like 2 X 4
rhizobium, fertilisers, manures
27 Diagram of human digestive system 2
Labelling a) pancreas b) food pipe or oesophagus Y2 X2
28 2 X 4

Indicator Colour in acidic Colour in basic
medium medium

Turmeric (i) yellow (i) red

Juice of China rose | (iii) pink (iv) green




Phenolphthalein

29

a) An object is said to be in uniform motion if it moves along a
straight path and covers equal distance in equal intervals of
time.

An object is said to be in non uniform motion if it covers
unequal distances in equal intervals of time and vice versa.

b) The object is showing uniform motion.

OR

For the first 15 minutes

Speed = 20 km/h

Time = 15 minutes = 15/60 h =% h
Distance = Speed X Time

Distance = 20 km/h X Y4 h =5 km

For the next 15 minutes

Speed =40 km/h

Time = 15 minutes = 15/60 h =% h
Distance = Speed X Time
Distance =40 km/h X ¥4 h = 10 km

Total distance covered in 30 minutes =5 km + 10 km = 15 km

(Y2 mark to be given for conversion of units of time from minutes to
hour , %2 mark to be given for the formula )

1 X2

V2
Va
V2

Vo

30

Inspiration - ribs move upwards and outwards
chest cavity expands
dome of diaphragm lowers down and forms a flat
sheet
Expiration - Ribs move down and inwards
Chest cavity becomes smaller
Diaphragm moves up

V2
iz
V2
Iz
V2
Iz

31

(i) Anaerobic respiration

(i) Human muscle cells

(iii) Alcohol + CO, + Energy
(iv) Water

Va
V2
Y2 X3
V2

Section-D
Question No. 34 to 36 are long answer questions




32 In order to fulfill their nitrogen requirements 1
Pitcher plant is insectivorous 1
Pitcher plant - Leaf of a pitcher plant gets modified to form a 3
pitcher with a lid. The pitcher is lined with downward pointing hair .
When an insect enters, it cannot climb back out against the hair
and gets digested by juices present in the pitcher.

OR
a) Photosynthesis.- Process by which green plants make their own | 1
food using carbon dioxide, minerals and water for synthesizing
their food in the presence of sunlight.
Chemical equation -
sunlight
Carbon dioxide + water > Carbohydrate + Oxygen 1
chlorophyll
b) Diagram 1
Labelling 1
c) Initial product - Glucose V2
Final product - Starch Z

33 a) Neutralisation reaction 1
b) Magnesium hydroxide, Sulphuric acid Y2 X2
c) Magnesium sulphate , water 2 X2
d) Mg(OH),(aq) + H,SO,(aq) —----> MgSQ,(aq) + 2H,0(l) 1
e) NaOH(aq) + HCl(aq) —-------- > NaCl(aq) + H,O(l) (or any other) |1

OR
(i) Physical Change - A substance may undergo a change in its 1
physical state, shape, size or colour, but it does not change into
another substance.
Chemical change - A substance changes into another substance. 1
(i) Physical change V2
Chemical change V2
(iii) melting of ice 1
Breaking of glass 1
34 (i) The correct option is C, B, A 1
In a solid mode of heat transfer is conduction. Pin C is very close
to the candle flame, hence it will capture the heat first, the pin A is
far away from the flame candle. Hence it will capture the heat after | 1
pin C and pin B.
(ii) The thermometer cracked because the clinical thermometer 1
was dipped in hot boiling water. It is calibrated from 35°C to 42°C
only.
Laboratory thermometer should have been used. 1




The range of laboratory thermometers is from -10°C to 110°C . 1
OR

(i) a) Conduction b) Convection 1X2
(ii)
(a) plastic handles are used for holding tea kettles because | 1
plastic is an insulator and hence we do not burn our

hands.
(i) Equitable climate exists in places near the sea because | 1
of land breeze and sea breeze
(iii) Fire brigade men use shining brass caps because brass | 1
caps absorb very little heat.

SECTION - E
Question No. 37 to 39 are case-based/data -based questions with five short
sub-parts. Attempt any four out of five sub-parts in each case study question

35 (any four) 1X4
a) Acidic salt

b) Acid - hydrochloric acid , Base - Aluminium hydroxide
c) Yes, Solution of salts in water conduct electricity

d) Help in identifying acids and bases

e) No change is observed in red litmus paper

36 (any four) 1X4

a) enamel

b) 5yrold - milk teeth, 10 yr old - permanent teeth

c) Milk teeth - First set of 20 small teeth that start appearing
above the gumline when a baby is six or seven months old
Permanent teeth - Second set of 32 larger teeth that come
out from the gums and eventually replace the milk teeth.

d) (i) molars / premolars and (ii) incisors

e) Ingestion of food is not possible without teeth. Teeth help in
cutting, tearing and grinding food. Swallowing food becomes

easy. .

37 (any four) 1X4
a) Due to presence of carbon dioxide in exhaled air
b) CaO
c) CaO + CO, —----- > CaCO;

d) Combination reaction
e) Itis important to exhale as high levels of carbon dioxide in
the body can be toxic

38 (any four) 1X4
a) Combination reaction
b) Ca and Ca?

¢) APF* x PO




AIPO,

d) Neutralisation reaction
e) H:SO. + 2 NaOH — Na:SO. + 2H.0
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Section A

1 Identify the correct statement with reference to the formation of soil. | 1

a)Size of the particles present in a soil has no influence on the
properties of soil.

b)Loamy soil is a mixture of sand, clay and silt but contains no humus.
c)The topmost layer which is rich in humus contributes to the fertility
of the land.

d)Soil is made up of only organic particles that includes gravel, sand,
silt etc

2 In the question given below, there are two statements marked as | 1
Assertion (A) and Reason (R).

Read the statements and choose the correct option.

ASSERTION (A) : The surface of the earth is constantly undergoing
changes.

REASON (R) : The gradual process brings the changes upon the
earth surface.

Options-

(a) Both (A) and (R) are correct and (R) is the correct explanation of
(A).

(b) Both (A) and (R) are correct but (R) is not the correct explanation
of (A).

(c) (A) is correct but (R) is wrong.
(d) (R) is correct but (A) is wrong.




Match the items given in column A, column B and column C and
choose the correct answer from the options given below:

Column A Column B Column C
a) Moving ice i) Delta 1)Greenland
b) Running water ii) Glacier 2) Ganga-Brahmaputra
c) Wind iii) Cliffs 3) Rajasthan
d) Sea waves iv) Sand dunes 4) Beaches
Options:

A. a-iii-2, b-iv-1, c-i-4 , d-ii-3
B. a-ii-1, b-i-2, c-iv-3, d-iii-4
C. a-iv-1, b-i-3, c-ii-2, d-iii-4
D. a-i-3, b-iv-4, c-iii-3, d-ii-3

Visualise and identify the picture given below.

Complete the analogy-

Rainfall:Rain gauge :: Air pressure:

Correct and rewrite the given statement-
lon particles are present in the mesosphere.




7 “l am the author of Tahqig-i-hind”. Who am [?
8 Identify the famous foreign visitor who wrote the travel account during
the medieval period of Indian history.
9 Choose the correct option-
Identify the ruler who crushed the rule of the Rashtrakutas.
a)Palas b) Paratiharas c) Chalukyas d) Rajputs
10 Complete the following statement-
The credit of founding of muslim empire in India goes to
11 Give one word for the following-
The temple situated on the sea coast of Gujarat and plundered by
Mahmud Ghazni-
12 Arrange the following in chronological order and choose the correct
option given below-
a) Babur defeated Ibrahim lodi.
b) Qutub-ud-din-aibak built Qutub minar in Delhi.
c)Jalal-ud-din-khalji captured the throne at the age of 70.
d)Ghiyansuddin Tughlaq killed by his son Juna khan.
Options-
1) abdc
2) abcd
3) bcda
4) bcad
Find the odd one out-
13 a) lltutmish, Razia sultan, Nasiruddin Mahmood, Juna khan




14

Name the process depicted in the picture given_below-
e

15

Read the following assertion- reasoning statement and choose the
correct option:

Assertion (A): In India people follow different religions and they are
free to follow their religious practices.

Reason (R):India is a secular country under the democratic set up.

(a)Both A and R are true and R is the correct explanation of A.
(b)Both A and R are true but R is not the correct explanation of A.
(c)A is true but R is wrong.

(d)A is wrong and R is correct.

16

Look at the picture and tell the type of gender inequality depicted
below.




Section B

17

Complete the following with reference to the help box.

horizon | top soil sub residual | lowest

The forming process continues over a long span of time. It
starts developing in layers one over the other. These layers are called

. The layer is called the bedrock, then comes the
weathered rock and soil is rich in humus.

18

List any two features of the stratosphere layer of the atmosphere.

19

Categorise the following into archeological and literary sources of
information.
Autobiographies, coins, order of the ruler, monuments

(Y
X4=2)

20

State any two reasons for the success of Turk invasions in India.

21

In the year 1246, the youngest son of lltutmish, Nasiruddin Mahmood
became the sultan and ruled for 20 years. Ghiyasuddin Balban was
his Prime Minister as well as actual ruler.

Appraise any two features of Ghiyasuddin Balban as a ruler of Delhi
sultanate.

22

Rohit and Reema are identical twins. They cleared their class XII
board exams with flying colours.Their parents are allowing only Rohit
to study abroad while on the other hand Reema is not allowed to
pursue her graduation. This reflects the stereotypical attitude of their
parents.

“Stereotyping is generally negative”. Mention any two effects of
stereotypical behaviour by the people in the society.

Section C

23

“Global warming is threatening the life support system on the earth”
Analyse the given statement and suggest any three measures to
prevent it.

24

Differentiate between Rashtrakutas and Pratiharas on the following




basis-

a) Area

b) Art and architecture
c) Famous ruler

25

“Indian democracy goes in the right direction, where all citizens are
aware enlightened and educated”

Name the three educational programmes initiated by the government
of India to provide the benefit of education to all. Also mention any
two advantages of such programmes.

Section D

26

“Soil erosion has become a menace which causes decline in the crop
yield”. Justify the statement by explaining the meaning of soil erosion
and suggest any four ways for its conservation.

(1+4)

27

‘Muhammad Tughlag was a great scholar but lacked common
sense”. Support the statement by explaining the three follies of him.
Or

Elucidateany five reforms made by Ala-ud-din Khalji to strengthen his
control over his territory.

(2+2+1

28

Describe the education system of North India during the medieval
period.

Or

Mention the religious beliefs of the people in the Northern states
during the medieval period.

29

Enlist any three provisions of right to equality also mention the
provision of constitution implemented by the government of India
under the Right to Equality.

3+2

30

Explain any five types of gender inequality with examples that exist
in most parts of the world.

Section E

31

Mahmud Ghazni invaded India 17 times in 27 years. He wanted to
make Ghazni, a small hilly and gain the control of Afghanistan and
Khurasan. He was attracted by the great wealth of India. So, he
started plundering towns and temples in north India. The credit of the
founding of muslim empire in India goes to Muhammad Ghori. His
dream of Islamic empire would have been incomplete without
conquering Kanauj.




a) The most destructive attack was directed against temple
by Mahmud Ghazni.
i) Puri ii) Khajuraho iii) Somnath iv) Konark

b) defeated Muhammad Ghori in the first battle of Tarain.
i) Jaichand ii) Prithviraj iii) Mihir Bhoj iv) Devapala

c) Choose the incorrect statement in reference to the above given
paragraph.

i) The credit of founding the muslim empire in India goes to Mahmud
Ghazni.

i) Mahmud invaded India 17 times in 27 years.

iiilMuhammad Ghori was defeated by Prithviraj in the first battle of
Tarain.

iv)The muslim army moved swiftly on their horses.

d) Name any two places plundered by Mahmud Ghazni.

32

You can't see air. It is made up of invisible gases. Two of these gases,
nitrogen and oxygen, make up almost all of the air. Most living things
cannot survive without oxygen. For example, we need oxygen to help
our bodies get energy from the food

Living things need nitrogen to make cells, but they cannot take the
nitrogen directly from the air. Nitrogen must first be combined with
other elements. The air contains other gases, too, such as carbon
dioxide. We give off carbon dioxide when we breathe out and when
we burn fuel. Carbon dioxide and the other gases besides nitrogen
and oxygen make up just one part in a hundred parts of air.

1. Carbon Dioxide being a harmful gas, still has benefits. State any
two uses of CO2.

2. Name the gas that makes up 21 percent of the air.

3.”"We breathe in oxygen and give off carbon dioxide”. Is there more
oxygen or more carbon dioxide in the air?

33

The issue of women's inequality is not limited to India alone; it is an
international one. A well laid out planning Is required on an
international level for gender equality because even the most
developed countries have been unsuccessful in ensuring a rightful
place for the women in the society. For example, Right to Vote was
given to women in England in 1928 only, and in France in 1944 after
a long period of demand.

Gender inequality exists in most parts of the world in different forms.

1. Define- Gender inequality
2. State any two advantages of education that help in the eradication




of gender inequality in our country.
3. Mention the project in which women cab drivers and tourists guides
are inducted into the “Incredible India” campaign.

Section F

34

A On the political map of India, identify and label the following-

a) State rich in red soil.

b) A type of soil that has the ability to retain moisture.

B. On the same political map, locate and label the following-
a) A state rich in the most fertile soil of India.

b) A state rich in desert soil in India.

35

On the political map of India, locate and label the following.




India Political Maps

a) The region for which Tripartite struggle held amongst the three
powerful kingdoms of North India.
b) Capital declared by lltutmish.




MARKING SCHEME

Q No. Value points/Key points Marks for each Total
value/key points Marks
1. Option c- The topmost layer which is rich in | 1 1
humus contributes to the fertility of the land.
2. Option b- Both (A) and (R) are correct but 1 1
(R) is not the correct explanation of (A).
3. Option b. a-ii-1, b-i-2, c-iv-3, d-iii-4 1 1
4. Wind wane 1 1
5. Barometer 1 1
6. lon particles are present in the 1 1
thermosphere.
7. Al-Biruni 1 1
8. Marco Polo 1 1
9. Option c- Chalukyas 1 1
10. Muhammad Ghori 1 1
11. Somnath Temple 1 1
12. Option 3- bcda 1 1
13. Juna Khan 1 1
14. Universal adult franchise 1 1
15. Option a- Both A and R are true and R is the | 1 1
correct explanation of A.
16. Professional inequality 1 1
17. Soil,horizon,lowest, top Y2 X4 2
18. a)lt is the calm and clean layer of the 1X2 2
atmosphere.
b)Aircrafts fly in this layer.
(Any other relevant point) (Pgno. 24-25)
19. Archeological- Coins, Monuments Yo X4 2

Literary- Autobiography, order of the ruler




20.

a) Disunity among the Indian rulers.
b) Caste system

c) No connection with the king.
d)Some Rajput rulers helped Turks.
(Any other relevant point) (Pg-92)

1X2

21.

a) His darbar was disciplined.

b)Believed in complete justice.

c)He ended the power of the group of forty
Turkish nobles .

(Any other relevant point) Pg-98

1X2

22.

a) It creates discrimination that results in
inequality.

b) It hampers the individual thoughts.
(Any other relevant point) Pg-183

1X2

23.

1. Afforestation

2. Recycle of resources
3.Reduce air pollution
(Any other relevant point)

1X3

24.

Rashtrakutas Pratiharas

Gujarat, Madhya Southwest
Pradesh, Bihar Rajasthan and
Guijarat

The rock cut Khajiraho, Puri,
temples of Ellora Kanchipuram etc

Govinda Ill and Mihir Bhoj
Amoghavarsha

1X3

25.

Educational programmes-

a)Mid day meal scheme

b)Operation Blackboard

(Any other relevant point) pg-154
Advantages-

a) Mid day meal scheme- It enhances the
enrollment in the school.

b) Universal elementary education- It
encourages people to send their children to
elementary school as free and compulsory

V2 X2=1
1X2=2




education has been guaranteed for them in
our constitution. pg-153

26.

Meaning - Removal of the top most layer of
the soil is known as soil erosion.
Conservation-

a) Crop rotation

b) Plantation of trees

c) Development and management of
pasture land

d) Awareness and adoption of these
practices at local level.

(Any other relevant point) pg-12

1X1=1
1X4=4

27.

Three follies of Muhammad- bin-Tughlaq
a) Transfer of capital from Delhi to Devgiri
b) Imposition of land tax

c) Issue of token currency of copper coins
instead of silver coins.

(Each point has to be explained ) pg-101

Or

Reforms by Ala-uddin-khilji

a) He kept a full record of his soldiers to
avoid any substitutions.

b) He organised an effective and efficient
system to control revolts against him.

c) Land revenue was fixed according to the
size of the land holdings.

d) He introduced a grain storage and
rationing system.

e) He didn't allow the nobles or the people
to amass money so he taxed them heavily.
Pg -99 (Any other relevant point)

2+2+1=5

Or

1X5

28.

Education system in North India

a) The elementary education was limited to
temples and monasteries.

b) Universities of Nalanda and Vikramshila
became important centres of higher
education.

c) Study of philosophy and religion was
encouraged.

d) Regional languages like Marathi ,
Guijarati were developed.

e) Sanskrit enjoyed a place of prominence.

1X5




(Any other relevant point) pg-77

Or

Religious system in North India

a) Rajputs worshipped god Vishnu and
Shiva.

b) They gave gifts of land to the Brahmins.
¢) Hinduism became more popular than
Buddhism.

d) Bhakti saints preached devotion to God.
e) Many Buddhists took shelter in south east
Asia.

(Any other relevant point) pg-77

29. Right to equality Provisions- 1x3=3
a) All citizens are equal before the law. 1x2=2
b) Discrimination on any basis is prohibited.
c) The law gives equal protection to all.
(Any other relevant point) pg 151
Provision of constitution implemented by the
government of India.
a) Many laws have been made to protect
the right to equality.
b) Many programmes and schemes are
launched for the communities that need
assistance.
30. Types of inequalities (To be explained in 1x5
detail)
a) Mortality inequality
b) Natality inequality
c) Professional Inequality
d) Special opportunity inequality
e) HouseHold Inequality
(Any other relevant point with explanation)
pg 185
31. a) Option iii- Somnath
b) Option i- Jaichand
c) Option i-The credit of founding the
muslim empire in India goes to Mahmud
Ghazni.
d) Nagarkot and Thanesar
32. 1. a) Maintaining the life cycle of plants over | 2+1+1




the earth.

b) It absorbs heat from the sun and warms
up the lower atmosphere of the earth
surface.

2. Oxygen
3. There is more oxygen in the air.

33.

1) Gender inequality can be understood as
the inequality in status of men and women
in the society.

2) a)Education makes the people aware of
their rights and their place in the society.
b)It promotes equal sharing of
responsibilities and harmonious partnership
between men and women.

3) Project Priyadarshani

1+2+1

34.

A. a) Tamil Nadu
b) Gujarat

B. a) Uttar pradesh
b) Rajasthan

1X4

35.

a)Kanauj
b)Delhi

1X2
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